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Part 1
Amwerbr.ieﬂym}rﬁixpm from the followings. 6%2=12

Write two methods to solve guadratice equations,

Suive by Factorization 17x* +32x-4-0

Selve the equation using guadratic formula 5x% +8x+1 =0
Find the diseriminant of the quadratic cquation 9x? +25=130x
Svaluate (2420 -20°)(3=3w+30%)

Write the quadiatic equation having roots 4, 8

Define direct variation, _

Find a third proportional to (x— )", x° —

If yoc % and y =4 . Find K when x =3

Answer briefly any Six parts from the followings. 6x2=12
Define rational fraction.

——3—-— = i - -8—- taen find the values of
{x+D(x-1) x+1 21

AandB

Define intersection ol two sets,

1 X={14,79} and ¥={24,59} then find X m ¥

1f set M has 5 elements, then find the number of hinary
relations in M.

1f A={a, b} and B={c, d} thenfind Bx A4

Define Moede.

Find the arithmetic mean for the following data
12,14,17,20,24,29,33 47

The salarics ofthe five teachers in rupces are as follow,

Find Range 11500, 12400, 15000, 14500, 14800
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Angwer briefly any Six parts from the foflowings.  6%2=12

Define angle.

Convert -E- radian to degree
” %
Find rwhen /= 56em , @ = ;md

Prove that (1 —sin® 8)(1 + tan’ §) = |
Defing obtuse angle.

Define circumcirlee.

Define chord of a circle.

Define arc

Divide an arc of any length inta four equal parts.
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Note: Attempt any Three Questions.Q.9 is compulsory. (8x3=24) & N9 AUly iy /% 7 el L cilyof o Jfin?

Solve the equation Jx+3 =321
If @, J are the roots of the equation €x* + mx+n=0
then find the value of a’ §7 + & 3

Find a fourth proportional to

g, PZ _qz’ pz—pth
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Resolve Ty
x|

inta partial fraction,

HU =N, A=¢  B=P thenprove thal
(AnBy=AUR

Dietermine variance. B
_S_tuflmt 1 2 3 I + 5 6
| Marks 60 70 | 30 90 80 | 42 |

If cos& — :3-2- Iand terminal arm of the angle @ is in quadrant

11 Find the values of rerazining rignomefric fimetions.
Draw two perpendicular tangents to a circle of radius 3 cm.
Prove that iftwo chords of4 circle 2re congruent than they will
be squidistant from the centre.
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Prove that any two angles in the same sepment of u circle are

equal.
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